HomewoX 20

I S 46 10 s 4
L6 4as eoc as ¢ 4
1 7 21 8 3¢ 24 7 24

B \sou 9\0’1 the odd (oegeicients as red, and evens as
olack) \ogu SH e  Sevpiaski ﬂiw\olg whicth is a {ucial

@) (O This %ems foconiede 10 O Vecavse ¢ £i61 20 deuns
e all decm%irn g f)‘“"’ clogel 18 0-

() TWS Seems Y0 Yend o 6-$944 6, 060600

-\Q&\“ oj\
Gy This seems to ock Y of M4 2 pigh  dd valig 655 and

67
i
|

1(\%\ RS seems 6 dend 40 M ofbid of gt 4 wih e
| ke, 0-87, 635, 0 82, and 050"

@ Twé wavemalical ©asian(s wieh Opess YAIoS 4 q bjfucation
d\ﬂ{)mm for g non-\iaw My

-

Q
Q

P L LV P D D DV O O VM YO O O YO DY DD

\



